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ECONOMICS HSSC~1

Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B {a)’, one part from Section ‘B (b)’ and any three questions
from Section ‘G’ on the separately provided answer book. Write vour answers neatly and legibly.

SECTICN — B (Marks 50}

Q.2 a Answer any FIFTEEN parts briefly. {18 x 3 = 45)
i) Differentiate between economic and non-aconomic goods,

i) Whatis meant by scarcity?

i)  VWhatis normative Economics?

{iv) State the law of Equi-Marginal utility.

{v) Why are Indifference curves convex to the origin?

(vi) Differentiate between independent and dependent variables,
{vii} What is the meaning of demand in Economics?

(viiiy  What is meant by income elasticity of demand?

(x)  Differentiate between supply and stock.

(%) What is meant by “movement along the supply curve"?

(x)  Write down any three characteristics of land.

{xii} What is meant by mobility of labour?

(i)  Whatis the différence between Sunk capital and Floating capitai?
(xivy  What is meant by short period market? Explain briefly.

(xv}  Whatis monopoly? Explain briefly.

(xviy  Differentiate between ‘Fixed Cost’ and Variable Cost.

(xvii)  Write tha relationship between average cost and marginal cost?
{xviill} Whatis normal profit?

(xix)  What is meant by real wage?

{02 Briefly discuss shut down peint in perfect competition.

(xxi}  Write down any three advantages of large scale of production.

k. Attempt any ONE part. {ix 5 =5)
(i) Describe law of demand.
{ii) What is labeur and what are its characteristics?

SECTION — C {Marks 30
Note: Attempt any THREE gquestions. All questions carry equal marks. {3x10=30)

Q.2  Explain the law of Diminishing Marginal Utility, with the help of schedule and diagram.
Q.4  Explain the unitary method in the measurement of elasticity of demand,
Q.5  FExplain the definition of Economics presented by Lionel Robbins.
Q.6  Explain the eguilibrium of firm under monopoly in short run and long run,
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